2018 06 01 1

Batsystem P40 - Monteringsanvisning

Batsystem AB, Traneredsviagen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-69 00 97

www.hatsystem.se, info@batsystem.se

Detta behdver du:

You will need this:

Innehall:

ifiiii@ﬁ@@

x1 x2 x1 X6 x1 x1 x8 x2 x8
M8 30 M8x16 M6x40 M6X35 M6X25 M6%20

@@@ @@@@O@O

@25, 250 mm @22, 650 mm
@/ ' ot ﬂ =0 @

(562 M6 022 ggy (2510

@@Q@OQ

Monteringskarta MP40: T?

g

‘ g rr|mrrr||mrrrl|mmuurmm@nmu

J@

= (ARKER PEN

Transport-
monterat. Skruva
at pa undersidan.
Transport
mounted.
Tighten the bolts.




2018 06 01 2

Avlagsna dessa bultar vid montering av stege
Remove these bolts when mounting the ladder

5 mm

Montera sakerhetsband
Fasten the safety strap

For alternativt montage - vand peket, lossa plattan och
montera pa motsatt sida.

For alternate mounting - reversible peket, loosen the plate and
mount on the opposite side.




2018 06 01 3

Batsystem MP40 - Mounting instructions, accessories
W Batsystem AB, Traneredsvigen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

www.hatsystem.se, info@batsystem.se




